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FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2020

Part — 111 Time : 2% Hours
ECONOMICS Cool-off time : 15 Minutes

Maximum : 80 Scores

General Instructions to Candidates :
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There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan vour answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is alse provided.

Give equations wherever neccssary:

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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Answer any 10 questions from 1 to 12. Each carries 1 score. (10 x1=10)
1.  Before 1921 India was in which stage of demographic transition ?

(a) First stage (b) Second stage

(c) Third stage (d) None of these

2. Which of the following is a discrete variable ?
(a) Rainfall (b) Population

(c) Temperature (d) None of these

3. Which of the following statements is not true with respect to the Industrial Policy
Resolution, 1956 ?

(a) Basis of the Second Five Year Plan
(b) Classified industries into three categories
(c) Promoted regional equality

(d) Abolished industrial licensing

4. Which Indian Five Year Plan recognised the impoitance of human capital in economic

growth ?
(a) Third Five Year Plan (b) Fourth Five Year Plan
(c) Sixth Five Year Plan (d) Seventh Five Year Plan

5. A system of farming that restores, maintains and enhances ecological balance :
(a) Co-operative Farming (b) Terrace Farming

(¢) Organic Farming (d) None of these

6.  Which of the foliowing indicates Worker-Population Ratio ?

Total Number of Workers Population

(@) Population x 100 (b) Total Number of Workers ™ 100
Total Number of Work

(©) e 100 (d) None of these

Labour Force
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1 2)®@3 12 2100@)88 ¢210330BSE1E3 ago®@sleno 10 af)anamlm’ 20moen9)®)d.

1 capod ail@o. (10x1=10)
L. gnamy 1921 maymi'maveal) alGlaIdEMETOM aR® *LISOIllenglo)am) ?

(a) &Moo eLISe (b) ©enedo pIgo

(c) m@AaNIo aeIgo (d) eomommag]

2. ©069 6305) N GEE9)MAIRIG3 ERAVAN® 2100 AR@6 ?

(a) oy (b) =mavoauly
() ®@oaiMiel (d)  eomomap]

3. ®6¢ a05)omlalemmaldlad 1956 eel  a1painedld; MW (aICAONA0WS
MITWE S NEIWEPBD(ITVIOIM B ?

(a) ©@6MEI0 Al IAIGILO alELMIWIHS GRSITVAIMo
(b) aQIMOWEBE8 MM AllRIVEBBIV] Mo @Gl
(©)  (a1eBUdld VAGIo EI0@3MVIaTlala))

(d)  apaiols: aeeinvadadlow) MBOEIOHMN

4. @loel af®  ale@IQICO  alELGIWEN ALOMIAIIG  AISA201G3
AMPHIMEILMOTHOW a1 Gdlaydlenom ?

(a)  @ANMI0 Al IAIGIVA alBLM) (b) m™MOLI%6 Al IAIBIVE o lRLM

(c) @O0 alEMINIGIVO alRLO) (d)  aB$I0 aleDIQIGIVE alELM]

5. aldloudl@]l auameimeem afismes)@sdble MlelITldamd®le 62a|0a]S)0mdb®)o

621N B{eHIGI@
(@)  TLAOEOEM DYt (b)  @gpal @yl
(c) oe6mal Byl (d) eeomommag]

6. ®9% alo@IMAIYIE  O@IFILINGE-RMIVoRI]  GRMPIODEOTD  AV)a fla laemymnay

aB®06M ?
@O OMIYILIOSE] 30D 2MaVo6Y

@) BMAVoRY x 100 ®)  “ames ecodengadn < 100
@YOD OMIYILIOSE] 3D

(© soodimdne) < 100 (d)  pomomagy
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7. Which of the following is a measure of dispersion from average ?
(a) Range (b)  Quartile Deviation
(c) Standard Deviation (d) None of these

8. The dominant source of electricity in India.
(a) Hydel Source (b) Thermal Source
(¢) Nuclear Source (d) None of these

9.  Example for Social infrastructure :
(a) Roads (b) Ports
(¢) Schools (d) Power Plants

10. Which of the following countries is related with the ‘Great Proietarian Cultural
Revolution’ ?

(a) China (b) Pakistan

(c) India (d) " None of these
11.  Which of the following is a graphical method of studying correlation ?
(a) Histogram (by- Lorenz curve

(c) Scatter Diagram (d) Frequency curve

12.  Which of the following price index depends on base period quantity ?

(a) Laspeyere’s Price Index (b) Paasche’s Price Index
(c) Fisher’s Price Index (d) None of these
Answer any 5 questions from 13 to 18. Each carries 2 scores. 5x2=10)

13. Identify any two reasons for the stagnation of Indian agricultural sector during colonial
period.

14. List any four indicators which are used to assess people’s health.

15. Identify the importance of Pilot Survey.
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7. ®009 680S)olclanmMaied veowdl@led MlMEs (@ISldanmanien @pgal

AR ?
(a) coei’ (b) 21@)ABLOG AI@IOMo
(c) @M Al@IWOMo (d) ememomm)ae)

8. namyien (ImILInd® 660IBGI 90ailse
(a) =e10aflso (b) @9l ©0ailso
(c) @smal oailso (d) eemomme]

9.  aLOMAIB AIURIDDHEI TVDGHOYTNM DBIAOOEMo :

(a) ©OOWYBHUD (b) oO:eIEBUB
(c) afllapeisnydd (d) ovdex= vlniweardB

10. ®28¢ 630S)OAEMNMAIVIT  aB@ EOLR{ONAOWINT  ‘DaOGHOW @RI
Vool Ailajale’ NIMWeA|SIBleIM® ?

(a) o&aIm (b)  asoasiquod
(c) enamy (d) eemoame;
1. ®00% 6305)oGlemMAIRI@  TLaOIAWe  BMIUIRI0OMBS (el  Clo)
aB®o6m ?
(@) adlequowoo (b) - eeicomav al@o
()  aPogd W Wo (d)  @RYEDI Qlo

12. @009 6305)0dleemMaIlod @RSIUOIM QlfaH GRSONGHOS ARYIVILNIM alflel
)2l ag@moem ?

(a) enflededn aller qu)aile (b) al0eHOS aflel AV)ailas
(©) adlaydlond afler a1l (d) eomomme]

13 2)®@3 18 60088 ¢21024mE|08 ago®eslene S af)aNOmIm” 2OMOOA)®)d.
2 ¢apod ailoo. (5x2=10)

13.  coogmileasma@orioom . HODIB  30GaHld:  CARILIVIOS  qPoEMOAITNOMIBE
aBOOBIEIo GANE BHOVEMEIBUS @Bl Ol

14, 2mMen8)es GREIN Lo AlleIRlo)BMOMIAICRIUIENAM aROMESIEI)e MOLT V)2 IMEIBU3
elqy eaig)H.

15, @8alelg TVAEOIOS (@ IWOIMYo @BlafGl@)d:.
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16. Calculate Range and coefficient of Range :

20, 30, 40, 50, 60, 70

17. Identify any two similarities in the development strategies of India, Pakistan and China.

18. Identifying a problem and choice of target group are the first two steps towards making

a project. List the other steps.

Answer any 6 questions from 19 to 25. Each carries 3 scores.

19. List any three arguments each in favour of and against Green Revolution.

20. Statistics is an indispensable tool for an economist. Substantiate.

(6 x3=18)

21. Briefly explain the liberalisation policy introduced in the industrial sector of India as

part of New Economic Policy, 1991.

22. Sample survey is preferred to Census survey by researchers in many situations.

Substantiate.

23. Critically evaluate the Poverty alleviation programmes of India.

24. Find two examples each for the categories self-employed, regular salaried employees

and casual wage labourers.

25. The share of difierent seciors in the State Domestic Product for the year 2017-18 is

given below. Construct a Pie diagram.

Sector Share (%)
Primary Sector_ 11
Secondary Sector 27
Tertiary Sector 62
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25.
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cos, GO 16 1)EMIB:0 af)ATAI HEMBNOLN)D

20, 30, 40, 50, 60, 70

EDAMY, aldHAROM, HeIM of)MQIWES AlSBIVMDEEBSOL! nBO@EILNe O6ME
LoD U3 GH@l2 Tl

@IREO™  GAla dl@)D, LIGUYDNDHOB  CIEOTNS)HND. )MV C@IORBHY
®QOOISNINGNH @B OENE LIS, AQ LIRS LAY Oa I1Q)H.

19 2)®@3 25 190 ¢21035mEG8 aBE@BILNe 6 afINOTIM DTNOOAPI®)b.

3 ¢capod ailoeo. (6 x3=18)

a0Al® QllgJAITITIM GRMGLINIVo (IGIGH)LIN0W)o M)A afido GGG ellqy
0121 .

30) VoMU, WOAPTHOM  BRO{INCa ISH®ZOW DalowWl@osm
audl@ilalaieuod@e. MVAGMAlHe)H:.

1991-6£1 anEm@ ALOMIGVIG MDA, ROWAELVI - HADIWIOS QIPAITVOD]D
C2ILIVIG3 MSa [0851® DBOOAIB3DHOM NWo 2 )O)BF QllAIBIHN)D .

2189  MLOa0aIREIBEIRI)p  VSQINHBR  OIVLMAVLAV  AVBEAUNVWENOUB  aVoMilUB
TLAEAIYIE MABWEMM MBBHONERGY. TVRAGOLNB6)D>.

DO WIS BIAIBYIB2N0@RMa 20l0L0SI368 Alladuomocud:20w aile1w]o)eTe ).

AVIWo OB HEOETRBBINWALAD, TLHIOUOMUBHNIAB, @IBIBILH: 3)elemo¥lriose,ud
ag)il allowEmBUBH @sTE QfiGio DBIAOVEMEBUD HEIEBDEING:.

2017-18 QIBaHE@ GHOSTVoMNIM @RYEIINO D@alM@II@3 allaillw caalelds)0s
Afladido MI6E 6)30S)AIIIENAN). HOIALD (o TR E>.

cacel ailadl@®o
B (o)
(1oLNA S caaIel 11
sl casniel 27
®YGTlQ caslel 62




26.

27.

28.

29.

30.

Answer any 4 questions from 26 to 30. Each carries 4 scores.

Explain any four important sources of Human Capital Formation.

(a) Classified data is better than raw data substantiate.

(b)

Identify the important ways of classification of data.

4 x4=16)

2
2

Analyse the measures initiated by the Government of India to improve rural credit

system in India.

The scores obtained by five students in Economics and Accountancy are given telow :

Scores in Economics | Scores in Accountancy
92 85
84 63
67 60 |
74 65
80 70

(a)
(b)

(2)
(b)

Calculate Rank correlaticn coefticient.

Identify another numerical method of calculating correlation.

List any four index numbers used in economics.

Identify one use each of these index numbers.

Answer any 2 questions from 31 to 33. Each carries 5 scores.

Outstanding is an important outcome of globalisation process.

31.
(a)
(b)

32. (a)
(b)

FY-35

Write a note on outsourcing.

©))
)

2
2

(2 x5=10)

©))

Identify any two reasons which made India a good destination for global

outsourcing.

Define Poverty.

Explain the various causes of poverty in India.

8

2

()
(C))



26.

27.

28.

29.

30.

31.

32.

26 m)®@8 30 190 €a103yEBEIA3 agomslene 4 ag)INOVIM  DOMOHAYL®) .
4 ¢capod ailoeo. 4 x4=16)

AMPHIMEILD  AVOYITMATNOMW  BO@EILe  MOLI (aIWIMeals 200ilsenud
QilvoBRIH)G>.

(@) adladla] GODEBWB  GRAVAVI®  BODDBBOSHNOWD N |SEIEM.
QI @Ta] )l )

(b) avdel  allaiesomemsd  ARUBEAEOMTIMEBS  (IWOMea]5  AlTlaud
Ao A 2

gnamyileel (1ogilem a1QO AVeOlWoMo ON2|E|SITIB CAINE! KRN LAIMIOAG
Mfl0lo{19)88 MSalISIhuB AlVdEIMo 6)210))d.

TLOMIAG,  VOANEIEN @GRGVIeMMIdIen @re all3dmARw cmSlw
CAPOO)HUB ®OOY HBHIS)TIB B9 :

aLOMIGTN] B> @RONVMRMBIIIeLI
WOMOIPE! GIVOAQ Gapod
92 85 |
84 63 |
67 60
74 65
80 - 70 )
(2) 0085 MVANENIMUWUIETMOBH BENANH6)D. 3)
(b)  AVAOMIMWo GHEMBHOBHIM)EE MU0 1020 AHQIO)BIB GBla Al (1)

(@)  qVOMIEBIS VIANTITT BalCWIVIAN)M aBOD@EILI MOLT V)2 IRHIB:EBUD
gy 62196 (2)
(b)  8c0 M) IBOIERW) B6N) Afido DalcWOVERUB GHdla0lw)d. )

31 @@ 33 00 ¢aloayEBSlal «Bo@BIeNe 2 ag)gROTIM  2OMOOAI®)D:.

5 ¢apod ailoeo. 2x5=10)

@REUAS QUDGIHHO6M (I(EGHIQWIOS 60} (IWIMalBlEMD®anLINIEM al)0oddBalerl.

(@)  a1)0o »0aBaleMIOW B)0la] B30} )T |9)®)b . 3)

(b) @RENIB alts HOOB aleMIWOS B0} ME CHBAOW] MDY 2CVGIMBS
AR Q6NE H0O6MEIBRU @Bl Cla)d:. ?2)

(a) BIAIB af)OTHAN MBI EN)B>. (4]

(b)  enamydlern 3odlBiEIMEs allailw &00meBUd AllvdBAHN . 4
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33. Draw ogives and locate Median.

Class Interval | Frequency

0-5 2
5-10 5

10-15 8

15-20 16

20-25 6

25-30

Answer any 2 questions from 34 to 36. Each carries 8 scores. 2x8=16)

34. Define Sustainable Development. Explain the various strategies for Sustainable
Development.

35. Calculate Mean, Median and Mode.

Class Interval | Frequency
0-10 4
10-20 7
20-30 10
30-40 14 |
40— 50 8 |
50 - 60 ‘1
60 — 70 2 |

36. Below is given a schedule.

Class Interval | Frequency
0-10 6
10-20 | 4
20-30 10
3040 12
40 — 50 5
50-60 13
(a) Calculate Quartile Deviation and Coefficient of Quartile Deviation. @)
(b) Identify a merit and a defect of Quartile Deviation. 1)
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33, esllanaud aloa] awPseeIa munomo MBaNIne)d.
POWaldld]l | @ROIOGI
0-5 2
5-10 5
10-15 8
15-20 16
20-25 6
25-30 3
34 a®@3 36 A1OOW)BS ¢21083BHEIEB aBO® BN 2 af)INOHIM  2MOOA) ).
8 capod ail®eo. 2 x8=16)
34, ayaudle allé:arume agemman dldalafleamd. avyrudia allecvmasimss allalw
@(631303 AflVoBlBBla9)H.
35, @OWYe, AW, NIaO)RIBo af)ATIQI BHEMANIBE)D.
OV a1l @RYQUYOITI
0-10 4
10-20 7
20-30 10
30-40 14
40 — 50 4
50 -60 |
60 —70 |

36. &30} algld ®IOY O)30S)TI@LNAT).

oW aldld]l | @RIy —I
0-10 6 |
10 -20 4
20-30 | 10 /|
30-40 1 12
46— 50 5
5060~ 3
(@) 2®PBMOD - AYDIVOMAl) 2B  AUGIVOMATING  !IFMIEBBAe
BEMNHNOHN ). )
(b) a1mBOOB AGIVIMETIOM B30) CAMAW)o B0} ERaHA o @IBla|olw)d:. @
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